® ma+ mb—-m=m(a+b)

@) 6402 + 32ab + 4b* = (8a + 2b)?
® -4a® + 9b* = (2a + 3b)(2a - 3b)
@ x*-5x-6=(x—-2)(x-3)

® 2x% = 5xy + 3y* = (x - 3y)(2x ~y)

B

@ ma+mb-m=m(a+b-1)
® —4a® + 9b* = —(2a + 3b)(2a — 3b)
@ x?-5x—6=(x—6)(x+1)
® 2x% - 5xy 4+ 3y? = (2x - 3y)(x - y)




(2x = 3)(x+ B) = 2x? + 2Bx - 3x — 3B
=2-x+A

9B-3=-1,B=1

—3B=A,A=-3

W A+B=(-3)+1=-2




FUHFH 2 -5xta, 2 —bx-12 ] FFA A7t x -3 0] T

o, a4+ b 9] ZH2?

@© 2 @ 4 ®7 @)8 ® 9

=(x-3)(x+k) 55 Uk
2 4+ (k-3)x -3k
k—-3=-5, —3k=a
k=-2 - a=(-3)x(<2) =6
7 = EE59 4t x -3 0lER
2x2 = bx =12 = (x = 3)(2x + m) = 2x*> + (m — 6)x — 3m
m—6=-b, —3m=-12
m=4 . b=6-4=2
“a+b=6+2=8




® (x=y)(x+y)

@y

O x?

® x+y

(@)X(x -Y)

4= x(x—y) °|th

o)

(x-y) T x(x-y)(x+y) T




5. P Hax-12=(x+b)(x+4), ¥*-bx-c=(x+3)(x+d) & i,
a+b+c+d<=? (a, b, ¢, d=F5)

@ -12 @14 ® 20 @ -28 ® -34

B ~

A 4ax—12= (x+b)(x+4) =12+ (b+ 4)x + 4b
a=b+4, —12=4b

Lb=-3,a=-3+4=1

¥ -bx—c=(x+3)(x+d)=x>+ (d+3)x+3d
-5=d+3, c=-3d

cd=-8, c=-3x(-8) =24
La+b+c+d=1-3+24-8=14

~&B ~

2 +ax-12 = (x + b)(x + 4) A F+FS vl stH
-12=4b .. b=-3

b= 3% Ao s}

¥ tax—12=(x-3)(x+4) =x% +x— 12

ta=1

x2-5x—c=(x+3)(x+d) oA x & ASE v s5HA
-5=3+d .. d=-8

d = -8 & A tidst

¥ -bx—c=(x+3)(x-8) =x%>-5x—24

Le=24




¥ -ax+2=(x-2)(x+k)
=x?+ (k-2)x -2k

k-2=-a,2k=2

S k=-1,a=3

232 = Tx+b = (x—2)(2x +m)
=2x2+ (m—4)x—2m

m—-—4=-7,b=-2m

- m=-3,b=6

¥ -3x+2=(x-2)(x-1)

232 —Tx+6=(2x-3)(x—2) o|BEZ

ol Q45 e

(x—1) + (2x - 3) = 3x— 4 o]},




O|Z}FA ax? + bx+c & ALEG sty Wi x o ALE AL 1T

Z01A

2(x+1)(x-5) 7} H313, AGol= ALFS AR B Zof

(2x+5)(x = 3) o] = Aot

S £ 24+ Ax+ B E 24 Q4 Bajist AL?
@(2x—5)(x—|—2) @ 2(x—|—1)2

® (x-2)(x+2) @ (x-2)(x+3)

® (2x—4)(x+5)

2(x+1) (x-5) oA F+F -10=
= (2x+5)(x - 3) oA x & A% -
2x? = x—10 = (2x - 5)(x + 2) °|t}.

T_'l
=

12
=

ﬂ Hxa,

SEA| H9k.




